
ALL INDIA ACCOUNTANCY OXYOPIA (AIAO) -2015 

AIAO-2015 FIRST ROUND (Intra School Round)        Page: 12/A-1 
 

1. _______ Principle requires that the same accounting method 

should be used from one accounting period to the next.  

 (a) Conservatism.                      (b) Consistency. 

 (c) Business entity.                    (d) Money measurement. 

2. Inventory is valued at cost or market value, whichever is less, is 

based on ______ 

  (a)  Entity concept      

 (b) Money measurement concept 

 (c) Accrual concept     

 (d) Conservation 

3. Debit balance as per Cash Book of ABC Enterprises as on 31.3.2011 

is Rs. 1,500. Cheques deposited but not cleared amounts to Rs. 100 

and Cheques issued but not presented of Rs. 150. The bank allowed 

interest amounting Rs. 50 and collected dividend Rs. 50 on behalf 

of ABC Enterprises. Balance as per pass book should be:  

 (a) 1,600  (b) 1,450            

 (c) 1,850          (d) 1,650  

4. The following particulars relate to the business of Mohan on March 

31, 2010. 

 Balance as shown by the cash book                           Rs. 10,000 

 Cheques issued but not presented for payment        Rs 4,000 

 Cheque deposited but not yet collected                      Rs. 3,000  

 Balance as shown by the Bank pass book will be 

 (a) Rs.9,000   (b) Rs. 10,000   

 (c) Rs.11,000   (d) None  

5. Overdraft as per Cash book                                             Rs. 6340 

 Cheque deposited but not credited                               Rs. 2360 

 Cheque issued but not presented for payment           Rs. 2368 

 Overdraft as per Pass book will be  

 (a) Rs. 6332     (b) Rs. 6000    

 (c) Rs. 6300    (d) Rs. 6330 

6. When balance as per cash book is the starting point, and cheque 

issued for payment Rs. 400 was wrongly credited by Bank as Rs. 

900 then in the bank reconciliation statement cash balance will be: 

 (a) Added by Rs. 130           (b) Subtracted by Rs. 1300 

 (c) Added Rs. 900                 (d) Subtracted by Rs. 400 

7. When money is withdrawn from the bank, the bank           

____________ the account of the customer. 

     (a) Credits                             (b) Debits 

 (c) Either (a) or (b)                (d) None of the three 

 

1. --------------------------- fl}kUr vko’;d djrk gS fd ,d ys[kkadu vof/k ls 

vkxkeh rd ,d tSlh ys[kkadu fof/k mi;ksx dh tkuh pkfg,A 

 (a) :f<+okfnrk  (b)lrrrk (c)O;kolkf;d lÙkk (d)eqnzk ekiu 

2. ykxr vFkok cktkj ewY;] tks Hkh de gks] ij jfgr;s dk ewY;kadu 

fd;k tkrk gS] ;g _______ ij vk/kkfjr gSA  

 (a) lRrk vo/kkj.kk            (b) eqnzk ekiu vo/kkj.kk 

 (c) miktZu vo/kkj.kk          (d) :f<+okfnrk  

3. ABC Enterprises dk jksdM cgh ds vuqlkj 31-3-2011 dks MsfcV 'ks"k 

1]500 :- gSA tek djk;s x;s fdUrq olwy u fd;s x;s pSdks dh jkf’k 

gS 100 :- RkFkk fuxZfer gq, pSd ysfdu izLrqr ugh afd;s x;s 150 :-

] cSad us 50 :- ykHkka’k izkIr fd;k Fkk] cSad us 50:- dk C;kt xzkgd 

dks fn;kA ikl cqd ds vuqlkj 'ks"k gksuk pkfg;s % 
 (a) 1]600 :-  (b) 1]450 :-  

 (c) 1]850 :-   (d)  1]650 : 

4. fuEufyf[kr fooj.k ekpZ 31] 2010 dks eksgu ds O;olk; ls lEcfU/kr 

gS& 

 jksdM iqLrd }kjk izdfVr 'ks"k         10]000:- 

 pSd fuxZfer fd;s ijUrq Hkqxrku gsrq izLrqr ugha fd;s x;s 4]000 :- 

 pSd tek fd;s ijUrq vHkh rd laxzg ugha gq,  3]000 :- 

 cSad ikl cqd }kjk izdfVr 'ks"k gksxk& 

 (a) 9]000:-             (b)  10]000:-    

 (c) 11]000:-            (d)  mijksDr esa ls dksbZ ugha 

5. jksdM+ iqLrd ds vuqlkj vf/kfod"kZ  6]340: 

 pSdsa tek dh x;h ijUrq ØsfMV ugha gqbZ  2]360: 

 pSd tkjh fd;s x;s ijUrq Hkqxrku gsrq izLrqr ugh afd;s x;s  2]368: 

 ikl cqd ds vuqlkj vf/kfod"kZ gksxk& 

 (a) 6]332 :   (b)6]000 :-a  

 (c) 6]300 :  (d) 6]330 :- 

6. tc jksdM+ iqLrd ds vuqlkj 'ks"k izkjfEHkd fcanw gS rFkk 400 :- ds Hkqxrku 

gsrq tkjh psd xyrh ls cSad esa 900 :- ls ØsfMV dj fn;k x;k rc cSad 

lek/kku fooj.ki= esa jksdM 'ks"k & 

 (a) 1]300 :- ls tksM+k tk;saxk  

 (b) 1]300 :- ls ?kVk gqvk  

  (c) 900 :- ls tksM+k tk;saxk   

 (d)  400 :- ls ?kVk gqvk 

7. Tkc cSad ls jkf’k fudkyh tkrh gS rc cSad xzkgd ds [kkrs dks 

___________ djrk gSA 

  (a) ØsfMV                (b) MsfCkV                                  

 (c) (a) ;k (b)            (d) rhuksa esa ls dksbZ ughaA 
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8. When preparing a bank Reconciliation statement if you start with 

balance as per pass book. Then cheques paid by bank recorded 

twice in pass book Rs. 1050 will be________ 

 (a) Added      (b) Deducted 

 (c) Not required to be adjusted       (d) None of the three 

9.   Credit balance as per passbook on 31.3.2010 is Rs.    

      22000.Cheques deposited but not cleared amount to Rs.              

      2000 and cheques issued but not presented of Rs. 8000.  

     Balance as per cash book should be 

   (a) Rs. 32,000  (b) Rs. 16,000  

 (c) Rs. 28,000      (d) Rs. 18,000 

10. Ratan deposited a cheque on 25 January, 2010 for a sum of Rs. 

20,000. The cheque was collected on 2 February, 2010. If the bank 

balance as per passbook as on 31 January, 2010 is Rs. 60,000; 

balance as per cash book will be 

 (a) Rs. 60,000   (b) Rs. 40,000         

  (c) Rs. 70,000   (d) Rs. 80,000 

11. The payment side of Cash Book is undercast by Rs. 250. If the 

starting point of BRS is the Overdraft Balance as per Pass Book, hen 

what would be the treatment to reach to Overdraft  Balance of 

Cash Book? 

 (a) Add Rs.250    (b) Less Rs.250   

 (c) Add Rs.500   (d) Less Rs.500 

12. On 31.3.2011 the Bank statement of M/s Shills traders showed a 

credit balance of Rs.10,585. During the year the following 

Transactions not entered in cash book.  

        (i) Bank debited Rs.35 per month as Bank charges 

        (ii) Quarterly interest credited Rs.25, 42, 39, 57 respectively  

     What is the balance of cash book before such items? 

 (a) Rs.10547 (b) Rs.10713        (c) Rs.10328    (d) Rs.10842 

13. A opened an account with Rs. 5,000 on 3/12/09. He deposited Rs. 

1,000 on 7/12/09. He withdraw Rs. 2,000 on 15/12/09 and 

deposited a cheque of Rs.10,000 on 20/12/09. What is the balance 

on 31/12/09? 

 (a) Rs. 18,000  (b) Rs. 14,000 (c) Rs. 4,000    (d) None 

14. Which of the following is a real account?    

 (a) Building A/c (b) Capital A/c (c) Rent A/c  d) All  

15. Trial balance shows the following balance 

       Capital -                                                 Rs. 30,000 (Cr.) 

    Payment of advance income tax -       Rs. 1,500 

    Income tax paid -      Rs. 4,000 

    Capital A/c balance at the end of the year will be 

 (a) Rs. 24,400 (b) Rs. 24,500 (c) Rs. 27,500 (d) None  

16. On April 01, 2008, K Travels Ltd. bought four Matador vans  

 costing Rs. 1,20,000 each. The company expected to fetch a  

 scrap value of 25% of the cost price of the vehicles after ten  

 years. The vehicles were depreciated under the fixed  

 installment method up to March 31, 2011. The rate of  

 depreciation charged up to March 31, 2011 was  

 (a) 10.0% (b) 9.0% (c) 8.5%      (d) 7.5% 

17. A company purchased plant for Rs. 5000. The useful life of the 

plant is 10 years and the residual value is Rs. 500. The  

 management wants to depreciate it by straight line method.  

 Rate of depreciation will be___________ 

     (a) 8%         (b) 9% (c) 10% (d) None  

18. Total cost of plant Rs 1,50,000,Salvage value  Rs. 20,000,  Useful 

Life -   10 years Annual depreciation under SL method will be 

 (a) Rs. 13,000 (b) Rs. 15,000 (c) Rs. 12,000 (d) Rs. 17,000 

8. tc ,d cSad lek/kku fooj.ki= cukrs le; ;fn vki ikl cqd ds 

vuqlkj 'ks"k ls izkjEHk djrs gS] cSd }kjk 1]050 :- ds pSd pqdk;s x;s 

ftldk cSad }kjk ikl cqd esa nks ckj fy[kk fd;k x;kA 

 (a) tksM+k tk;sxk             (b) ?kVk;k tk;sxk 

 (c) lek;ksftr djus dh vko’;drk ugha gksxh     

 (d) rhuksa esa dksbZ ugha  

9. ikl cqd ds vuqlkj 31&3&2010 dks 22]000 :- dk ØsfMV 'ks"k gSA 

tek fd;s x;s fdUrq vHkh rd Dyh;j u gq, pSd 2]000 :i;s Fks rFkk 

tkjh fd;s x;s fdUrq vHkh rd izLrqr u fd;s x;s pSsd 8]000 :- ds 

FksA jksdM cgh ds vuqlkj 'ks"k gksxk& 

 (a)  32]000 :- (b) 16]000 :- (c) 28]000 :- (d) 18]000 :- 

10. jru us ,d pSd 25 tuojh] 2010 dks 20]000 :- dh jde dk tek 

djk;kA pSd dks 2 Qjojh] 2010 dks laxzfgr fd;k x;kA ;fn ikl 

cqd ds vuqlkj 31 tuojh] 2010 dks cSad 'ks"k 60]000 :- gS rks jksdM+ 

cgh ds vuqlkj 'ks"k gksxk& 

 (a) 60]000 :    (b) 40]000 :- (c) 70]000 :-  (d) 80]000 :- 

11. jksdM+ cgh dk Hkqxrku i{k dk ;ksx 250 :- ls de fd;k tkrk gS 

;fn cSad lek/kku fooj.k ikl cqd ds vf/kfod"kZ 'ks"k ls cuk;k tkrk 

gS rks jksdM cgh ds vf/kfod"kZ 'ks"k ij igq¡pus ds fy;s] fd;k tk;sxkA  

  (a) 250 :- tksM+s tk;saxs  (b) 250 :- ?kVk;s tk;asxs  

  (c) 500 :- tksMs+ tk;asxs  (d) 500 :- ?kVk;s tk;saxs  

12.  31 ekpZ 2011 dks eSllZ 'khYM VªSMlZ dEiuh dkcSadfooj.k 

10]585 dk tek 'ks"k fn[kkrk gSA o"kZ ds nkSjku jksdM cgh esa  

fuEu ysunsu ugha fn[kk;s x;s gSaA 

   1- cSad us 35 :- izfr ekg cSad 'kwYd yxk;k  

   2- frekgh C;kt tek 25 :-] 42 :-] 39 :- 57 :- 

     jksdM+cgh ds vuqlkj 'ks"k gksxkA 

 (a) 10547 :           (b) 10713 : (c) 10328 :     (d) 10842 : 

13. , us 3.12.2009 dks 5000 :. ls [kkrk [kksyk] mlus  

 7/12/09 dks 1000 #i;s tek fd;sA mls 15/12/09 

 dks 2000 #i;s fudkys vkSj 20/12/09dks  10000 #i;s  

 dk pSd tek fd;kA 31/12/09 dks 'ks"k crkb;sA  

 (a)18000 :      (b) 14000 : (c) 4000 :     (d) dksbZ ugha  

14. uEu esa ls dkSulk [kkrk gS okLrfod [kkrk gSA 

 (a) Hkou [kkrk    (b) iwath [kkrk (c) fdjk;k [kkrk  (d) lHkh 

15. ryiV fuEu 'ks"k fn[kkrk gS& 

 iw¡th 30000:-  vfxze vk;dj ds Hkqxrku 1500:- vk;dj pqdk;k 

4000:- o"kZ ds vUr eas iw¡th [kkrk 'ks"k gksxk& 

 (a) 24400:     (b) 24500:   (c) 27500:     (d) dksbZ ugha 

16. vizsy 1] 2008 dks ds- VS~zzzoYl fyfeVsM us pkj eSVkMksj oSu 1]20]000 

:- izfr dh ykxr ls [kjhnhA dEiuh dks vk'kk Fkh fd 10 o"kZ ckn 

xkfM;ksa ds ykxr ewY; dk 25 izfr'kr LdzSi ewY; fey tk;sxkA 

xkfM;kWa 31 ekpZ 2011 rd LFkk;h fd'r fof/k ds vUrxZr âkflr dh 

tkrh FkhA ekpZ 31] 2011 rd yxk;s x;s âkl dh nj Fkh% 

 (a) 10 izfr'kr      (b) 9 izfr'kr (c) 8-5 izfr'kr (d) 7-5 izfr'kr  
17.  ,d dEiuh us 5]000 :- ls la;U= Ø; fd;kA la;U= dk mi;ksxh     

  thou 10 o"kZ gS rFkk vo’ks"k ewY; 500 :- gSA izcU/ku lh/kh js[kk    

  fof/k ls àkl yxkuk pkgrk gS] àkl dh nj gksxh& 

 (a) 8 izfr’kr       (b) 9 izfr’kr  (c) 10 izfr’kr (d) dksbZ ugha 

18. la;a= dh dqy okLrfod ykxr 1]50]000 :-] vo’ks"k ewY;  20]000 :  

mi;ksxh thou 10 lky ljy ys[kk fof/k ds vUrxZr okf"kZd àkl gksxk& 

 (a) 13]000 :-  (b) 15]000 :- (c) 12]000 :-   (d) 17]000 :- 
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19. Plant and machinery account of a firm had a Dr. balance of Rs. 

1,47,390 on Jan. 1, 2010. It has purchased plant and machinery on 

Jan, 1,2007. Firm has been following the practice of charging full 

years depreciation every year on diminishing balance system @ 

15% p.a. Cost of machinery on 1.1.2007 will be__ 

(a) Rs.240,000  (b)  Rs.250,000     (c)   Rs.200,000      (d)  Rs. 260,000 

20. A boiler was purchased from abroad for Rs. 10,000, shipping and 

forwarding charges Amt. to Rs. 2000, import duty Rs. 7000 and exp. 

of installation Amt. to Rs. 1000. It was depreciated for three years 

@ 10% p.a. on diminishing balance method, balance of machinery 

a/c at the end of third year will be_ 

 (a) Rs. 14580 (b) Rs. 15000    (c) Rs. 14000    (d) Rs. 15500 

21. Original cost = Rs. 2,52,000 Salvage value = 12000. Depreciation for 

3rd year @ 5% p.a. under W.D.V method will be 

 (a) Rs. 12,600    (b) Rs. 11,382 (c) Rs. 11,372  (d) Rs. 11,970 

22. A machine was purchased on 1st April, 2007 for Rs. 5lac and 1 Oct., 

2007 for Rs. 2,lac. Calculate depreciation @ 20% p.a on written 

down value method for the year ending 31 Mar., 2008. 

 (a)  Rs.1,00,000   (b)  Rs.1,40,000   

 (c)  Rs.40,000    (d)  Rs. 1,20,000 

23. X purchased a machinery on 01.04.2008 for Rs. 5,00,000. 

Depreciation is Charged at WDV at the rate of 10% p.a. The WDV of 

the machinery for the year ending 31st March 2011 will be : 

 (a) Rs.4,50,000  (b) Rs.4,05,000  (c) Rs.3,54,500   (d) Rs. 3,64,500 

24. An asset has a useful life of 4 years. If it is depreciated by 

diminishing balance method. Its book value at the end of 4 years is 

24% of its original cost. Hence the rate of depreciation applied is 

(a) 20% (b) 30%             (c) 25% (d) 35% 
25. A trader purchased a machinery for Rs. 10,000 in Jan 2004. 

Depreciation is charged @ 25% diminishing balance. At the end of third 

year it was sold for Rs. 1,000. Profit or Loss on sale of machine will be: 

 (a) Profit Rs.2,400 (b) Profit Rs.2,300 (c) Loss Rs. 2,406 (d)Loss Rs. 3,219 

26. A machine was purchased for Rs. 50,000. Installation expenses 

amounted to Rs. 2,000, wages of Rs. 4,000 were paid on 

installation. The scrap value at the end of its useful life of 10 years 

is Rs. 6,000. Repairs of Rs. 6,000 was made after 6 months from the 

date of purchase. Calculate depreciation: 

 (a) Rs. 5,600    (b) Rs. 4,800  

 (c) Rs. 5,000     (d) None 

27. Ram gets Ghosh’s acceptance for Rs. 12,000 discounted at 2 

months at 12% p.a. The amount of discount will be:  

 (a)  Rs. 240 (b) Rs. 120       (c) Rs. 360          (d) Nil 

28. Ram sells goods for Rs. 1 lac to Hari on 1st January, 2012 and on 

the same day draws a bill on Hari at 3 months for the amount. Hari 

accepts it and returns it to Ram, who discounts it on 4th January 

2012 with his bank at 12% per annum. The discounting charges are 

 (a) Rs. 12000   (b) Rs. 4000 (c) Rs. 3000   (d) Nil 

29. Received one bill from A Rs. 500 passed through B/P book. The 

rectifying entry will be: 
 (a) A              Dr. 500 (b) B/R a/c             Dr.  500 

       To B/P                       500                                     To A                           500 

 (c) B/P a/c         Dr. 500 (d) None of these 

             B/R a/c         Dr. 500 

                 To A                      1000               

30. Mohan drew a bill on Shyam for Rs. 50,000 for 3 months. Proceeds 

are to be shared equally. Mohan got the bill discounted @ 12% p.a. 

and remits required proceeds to Shyam. The amount of such 

remittance will be: 

 (a) Rs. 24,250   (b) Rs. 25,000   (c) Rs. 16,167   (d) Rs  32,333 

19. tuojh 1] 2010 dks ,d QeZ ds la;U= ,oa e’khujh [kkrs dk MsfcV 'ks"k 

1]47]390 :- FkkA bls tuojh 1] 2007 dks Ø; fd;k x;k gSA QeZ us 15 

izfr’kr dh okf"kZd nj ij àkleku 'ks"k i)fr ij àkl yxkus dk dk;Z fd;k 

gSA 1-1-2007 dks e’khujh dh ykxr -------- gksxhA 

 (a) 2]40]000 :- (b) 2]50]000 :- (c) 2]00]000 :- (d) 2]60]000 :- 

20. ,d ckW;yj dks fons’k ls 10]000 :- esa [kjhn x;k Fkk] f’kfiax ,oa QkjokfMZx 

O;; dh jkf’k 2000 :- vk;kr ’kqYd 7]000 :- rFkk izfr"Bkiu ds O;; dh 

jkf’k 1]000 :- gq;hA bl ij rhu o"kZ rd àkleku 'ks"k fof/k ls 10 izfr’kr 

izfro"kZ dh nj ls àkl dkVk x;kA r`rh; o"kZ ds vUr esa e’khujh [kkrs dk 

'ks"k gksxk& 

 (a) 14]580 :-  (b) 15]000 :-  (c) 14]000 :-  (d) 15]500 :-aa 

21. ekSfyd ykxr ¾2]52]000 :- vo’ks"k ewY; ¾12]000 :- vifyf[kr ewY; 

fof/k ds vUrxZr 5% okf"kZd dh nj ls rhljs o"kZ dk àkl gksxk& 

 (a) 12]600 :-  (b) 11]382 :-   (c) 11]372 :-   (d)11]970 :- 

22. 1 vizsy 2007 dks 500000 :- vkSj 1 vDVwcj 2007 dks 200000 :- dh 

e'khu Ø; dh xbZA 31 ekpZ 2008 dks vifyf[kr ewY; fof/k ls 20 izfr'kr 

okf"kZd dh nj ij ewY; g~kl gksxkA  

 (a) 100000 :-    (b) 140000 :- (c) 40000 :-      (d) 120000 :- 

23. ,Dl us 1-04-2008 dks 5 yk[k :i;s dh e’khu Ø; dhA ewY; âkl ?kVrh 

âkl i}fr ls 10 izfr’kr okf"kZd nj ls yxk;k tkrk gS] 31 ekpZ 2011 dks 

vUr gksus okys o"kZ esa e’khu dk âkflr ewY; gksxkA 

 (a) 4,50,000  :  (b) 4,05,000: (c) 3,54,500 :   (d) 3,64,500 : 

24. ,d lEifÙk dk mi;ksxh thou 4 o"kZ gSA ;fn ;g àkflr 'ks"k fof/k ds 

vuqlkj àkflr gksrh gSA bldk iqLrdh; ewY; 4 o"kZ ds ckn ewy ykxr dk 

24 izfr’kr jg tk;sxkA vr% yxus okyh àkl dh nj gS& 

         (a) 20%        (b) 30             (c) 25%                    (d) 35% 

25. ,d O;kikjh tuojh 04 esa 10000 :- ds fy;sa e’khujh [kjhnrk gS âkl ?kVrs 

'ks"k i)fr ls 25 izfr’kr dh nj ls pktZ fd;k tkrk gSA rhljsa o"kZ ds vUr 

esa bls 1000 :- esa csp fn;k tkrk gSA e’khu ds foØ; ij gksus okysa ykHk ;k 

gkfu dh jkf’k gksxhA 

 (a) ykHk&2400 :- (b) ykHk&2300 :-(c) gkfu&2406 :-(d) gkfu&3219 :- 

26. e'khu dk Ø; ewY; 50000 :-] LFkkiuk O;; 2000 :-] LFkkiuk ij etnwjh 

dk Hkqxrku 4000 :-A e'khu dk mi;ksxh thoudky 10 o"kZ] vo'ks"k ewY; 

6000 :-] 6 ekg i'pkr~ e'khu dh ejEer ij O;; 6000 :-A ewY;ákl dh 

jkf'k gksxhA  

 (a) 5600 :-       (b) 4800 :-  (c) 5000 :-       (d) dskbZ ughaA  

27. jke us 12]000 #- dh ?kks"k dh 2 ekg okyh Lohdf̀r dks 12% okf"kZd ij “quk 

fy;kA cV~Vs dh jde gksxh % 

 (a) 240 #-        (b) 120 #-  (c) 360 #-   (d) ’kqU; 
28. jke us 1 tuojh 2012 dks 100000: dk eky gjh dks cspk vkSj blh fnu 3 

ekg ds fy, gjh ij foi= fy[k fn;kA gjh us foi= Lohdkj fd;k ,ao jke 

dks Hkst fn;k ftls 4 tuojh 2012 dks 12 izfr’kr dh okf"kZd nj ls jke 

}kjk cSad ls Hkquok;k x;kA Hkquok;h O;; Kkr djsaA 

 (a) 12]000 :-         (b) 4]000 :-     (c) 3]000 :       (d)  'kwU; 
29. , ls izkIr 500 : dk ,d foi= ns; foi= iqLrd ds ek/;e ls xqtjkA 

la’kks/ku izfof"V gksxh& 

 (a) A                   Dr. 500  

        To B/P                       500 

 (b) B/R a/c         Dr. 500 

          To A                         500 

 (c) B/P a/c         Dr. 500 

           B/R a/c        Dr. 500 

                  To A                       1000  (d) dksbZ ugha 

30. eksgu 3 eghusa ds fy;sa 50000 :- dk fcy ';ke ij fy[krk gS izkIr jkf’k 

cjkcj ckaVh tk;sxhA eksgu fcy dks 12 izfr’kr cV~Vs ij Hkquokdj 'ks"k jkf’k 

';ke dkas Hkst nsrk gSA Hksth tkuh okyh jkf’k gksxhA 

 (a) 24250:     (b) 25000:- (c) 16167:-    (d)  32333:- 
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31. A draws a bill on B for Rs. 30,000. A wants to endorse it to C in 

settlement of Rs. 35,000 at 2% discount with the help of B’s 

acceptance and balance in cash. How much cash A will pay to C? 

 (a)  Rs. 4,300  (b) Rs. 4,000  

 (c)  Rs. 4,100   (d) Rs. 5,000  

32. X draws a bill on Y for Rs. 30,000 on 1.1.2011. X accepts the same 

on 4.1.2011 for period of 3 months after date. What will be the 

maturity date of the bill:  

 (a)  4.4.2011   (b) 3.4.2011  

 (c)  7.4.2011      (d) 8.4.2011 

33. A bill has been drawn on August 10, 2009 payable after 3 months. 

The maturity date of the bill will be 

 (a)  Nov. 13, 2009 (b) Nov. 10, 2009 

 (c)  Oct. 31, 2009 (d) None of the above 

34. Gouri sold goods to Gupta on 1.6.2011 for Rs.1600. Gupta 

immediately accepted a three months bill on due date Gupta 

requested that the bill be renewed for a fresh period of two 

months. Gouri agrees provided interest at 9% p.a. was paid 

immediately in cash. What will be the amount of interest in the 

books of Gouri? 

 (a) 20         (b) 25                      

 (c) 24                  (d) 28 

35. A’s acceptance to B for Rs. 2500 is discharged by a cash payment of 

Rs. 1000 and a new bill is drawn for the balance plus Rs. 50 

interest. The amount of the new bill will be Rs.  

 (a) 2550   (b) 1550   

 (c) 1050   (d) None of the three 

36. On 01.01.2011, X draws a bill on Y for Rs. 30,000. At maturity, bill 

was dishonoured and X paid noting charges of Rs. 100 on it. Y 

requested X to draw a fresh bill for 2 months together with interest 

of Rs. 602. The rate of interest applied  

 (a) 12%    (b) 11%     

 (c) 10%  (d) 14% 

37. P shows a profit of Rs. 7,00,000 for the year ended 31.3.08. The 

figure has been arrived at after charging following against revenue: 

Purchase of Car on 28.3.08 for use in business Rs. 1,00,000 and 

treated as vehicle expenses. Omitting to record unpaid electricity 

bills for Feb. and March, 2008 of Rs. 15,000 per month. The correct 

profit for the year ended 31st March, 2008 is 

 (a) Rs. 6,30,000  (b) Rs. 7,00,000 

 (c) Rs. 7,70,000  (d) Rs. 8,30,000 

38. Rs. 1,000 received as interest, shown as interest paid in cash book. 

Due to this error the cash balance will be effected:   

 (a) Decrease by Rs. 2,000 (b) Decrease by Rs. 1,000  

 (c) Increase by Rs. 4,000 (d) None of these 

39. Which of the following error is an error of omission?  

 (a) Sale of Rs. 5,000 was written in the purchases journal.  

 (b) Wages paid to Shyam has been debited to his account.  

    (c) The total of the sales journal has not been posted to the sales account. 

(d) None  

40. Atul purchased goods costing Rs. 50,000 at an invoice price, which 

is 50% above cost. On invoice price he enjoyed 15% trade discount 

and Rs. 3,750 cash discount on cash payment of goods in lump sum 

at the time of purchase. The purchase price to be recorded in the 

books before cash discount will be 

(a) Rs. 75,000.   (b) Rs. 60,000.  

(c) Rs. 63,750.   (d) Rs. 50,000.  

 

31. A us B ij 30]000 :- dk fofue; i= fy[kkA A mls 35]000 :- ¼?kVk;sa 2 

izfr'kr  cV~Vs½ ds Hkqxrku esa C dks cspku djuk pkgrk gS B dh Lohdf̀r 

okyk fcy nsdj rFkk 'ks"k udn pqdk djA A, C dks fdruk jksdM+ pqdk;sxk 

      (a) 4,300 :     (b) 4,000 :             

 (c) 4,100 :        (d) 5,000 : 

32. x us 1-1-2011 dks y ij 30000 :- dk ,d fcy fy[kkA x us mldks 4-1-

2011 dks Lohdkj fd;kA fcy dh vof/k frfFk ds 3 ekg i'pkr dh gS A 

fcy dh ns; frfFk D;k gksxh % 

 (a) 4-4-2011       (b) 3-4-2011  

 (c) 7-4-2011       (d) 8-4-2011 
33. ,d foi= vxLr 10] 2009 dks fy[kk x;k tks 3 ekg ckn ns; gSA foi= dh 

ns; frfFk gksxh& 

 (a) uoEcj 13] 2009           (b) uoEcj 10] 2009 

 (c) vDVwcj 31] 2009          (d) mijksDr esa ls dksbZ ugha 

34. xkSjh us xqIrk dks 1-6-2011 dks 1600 #- dk eky cspkA xqIrk us rqjUr gh 3 

ekg dk ,d fcy Lohdkj fd;kA ns; frfFk dks xqIrk us izkFkZuk dh fd fcy 

dks vfrfjDr nks ekg ds fy, uohd`r dj fn;k tk;sA xkSjh lger gqbZ c’krsZ 

fd 9% dh okf"kZd nj ls C;kt rqjUr udn pqdk fn;k tk;sA xkSjh dh iqLrdksa 

esa C;kt dh fdruh jkf’k gksxh % 

      (a) 20 #-          (b) 25 #-     

    (c) 24 #-             (d) 28 #- 
35.  2]500 :- ds fy, , dh ch dks nh xbZ Lohdf̀r dks 1]000 :- udn Hkqxrku 

djds rFkk ,d u;k foi= 'ks"k jkf'k tek 50 :- C;kt fy[kdj fuLrkfjr 

fd;k tkrk gS] u;s foi= dh jkf’k gksxh& 

 (a) 2]550 :-         (b) 1]550 :-   

 (c) 1]050 :-      (d) dksbZ ugha 

36. 1 tuojh 2011 dks ,Dl us okbZ ij 30000: dk foi= fy[kkA ns; frfFk ij 

foi= vuknfjr gks x;k] vkSj ,Dl us 100: ds fudjkbZ O;; dk Hkqxrku 

fd;kA okbZ us ,Dl dks 2 ekg ds fy, 602: ds C;kt ds lkFk u;k foi= 

fy[kus dk vkxzg fd;kA C;kt dh nj Kkr djsaA 

 (a) 12 izfr’kr        (b) 11 izfr’kr  

 (c) 10 izfr’kr      (d) 14 izfr’kr 

37. P us 31.3.08 dks lekIr gksus okys o"kZ dk ykHk 700000 :i;s fudkyk] 

fuEufy[kr lek;kstu djus ds ckn] 28.3.08 dks O;olk; ds fy, 100000 

:i;s dh dkj [kjhnh] ftls [kpkZ eku fy;k rFkk fctyh O;; ds 15000 

:i;s izfrekg Qjojh o ekpZ dk O;; ckdh gS] ftls iqLrdksa esa ugha fn[kk;kA 

31 ekpZ 2008  dks lekIr gksus okys o"kZ dk lgh ykHk gksxk %& 

 (a) 630000 :i;s               (b)  700000 :i;s 

 (c) 770000 :i;s               (d)  830000 :i;s 

38. C;kt ds 1]000:- izkIr gq, ftls jksdM+ cgh us pqdk;k x;k C;kt eku fy;k 

bl v'kqf) ds dkj.k udn 'ks"k izHkkfor gksxk & 

 (a) 2]000 ls de gks tk;sxk  (b) 1]000 ls de gks tk;sxk 

 (c) 4]000 ls c<+ tk;sxk     (d)  mijksDr esa ls dksbZ ugha 

39. fuEu esa ls dkSulh v'kqf) Hkwy dh gS %&  

 (a) 5000 :i;s dk eky cspk] ftls Ø; eku fy;kA 

  (b) ';ke dks etnwjh pqdk;h] ';ke dk [kkrk MsfcV dj fn;kA  

 (c) foØ; cgh dk ;ksx foØ; [kkrs esa ugha [krk;kA  

 (d) mijksDr esa ls dksbZ ughaA  

40. vrqy us chtd ewY;] tks ykxr ls 50% vf/kd gS] ij 50]000:- dh ykxr 

dk eky Ø; fd;kA chtd ewY; ij mls 15% O;kikfjd NwV feyh rFkk Ø; 

ds le; ,deq’r esa eky udn Hkqxrku ij 3]750 :- udn NwV feyhA 

iwLrdksa esa udn NwV ls iwoZ vfHkfyf[kr fd;k tkus okyk Ø; ewY; gksxk& 

(a) 75]000 :-   (b) 60]000 :- 

(c) 63]750 :-  (d) 50]000 :- 

 


